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2. Find y(z/2) where y(x) is the solution to
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3. Solve the initial value problem, d_y —sin(x)y =cos(x), y(0)=2.Your
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4. Find the solution to the initial value problem
d 2 _6x?
T y(1)=3
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5. Match the equations on the left with the slope fields on the right.
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6. Using the improved Euler method with step size h = 1, approximate y(2)
dy
if -

dX=2X—y, y(0) =-1.
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7. Find a differential equation whose general solution is the set of all
2
ellipses of the form (gj +y?=a’. Note that a is an arbitrary constant
and should not appear in the differential equation.
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8. Suppose P(t) is a solution of %—Tz P -10P?+21P with tILrg P(t)=3.

What can you say about the value of tﬂr]lo P(t) ? Justify your answer,
using complete sentences.
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